= o
A & 0l & AF 2 E A A
20198 & =04k LEHSIH nESHF
2A NS
A Hsus g4 XA
& s AMAE =F (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
wEHFH M 5,248,233 4,890,324 357,909
thsns 84 N 1,502,700 1,502,700 0
wnE AL &= 1,502,700 1,502,700 0
&t A 1,502,700 1,502,700 0
401 Al HIZ 2018 1,502,700 1,502,700 0
01 Al& gl 1,500,000 1,500,000 0
OXtH & A4 (L=300Km) 1,500,000, 000& * 14 1,500,000
03 Al 2 THHI 2,700 2,700 0
OAIE = HHI 2,700,000 » 14! 2,700
SES=SH A 2 20,000 20,000 0
BF2E 2ENE 20,000 20,000 0
FF3g 4248 NH 20,000 20,000 0
307 gl2tol & 20,000 20,000 0
09 2HAHEXS 20,000 20,000 0
OF=3E &ABAXAS 20,000,000 x14) 20,000
WREs(nsSsH ) 3,645,200 3,289,600 355,600
WEHHX = 3,170,000 2,800,000 370,000
HWEHHXS(RSEE L) 3,170,000 2,800,000 370,000
701 JIEtSI HSHES 3,170,000 2,800,000 370,000
01 JIEtel HE &= 3,170,000 2,800,000 370,000
OQuSAMASEIH dES 3,170,000
D MAA S AKX 2 1,770,000, 000& 14 1,770,000
DaMUIZ AX 900,000,000 » 14! 900,000
DREFA ANsEDESHAITS) RS A
500,000,000 » 14! 500,000
RSN 475,200 489,600 A 14,400
Xl XH &F & 475,200 489,600 A 14,400
311 X+ S0l At &f & 115,200 129,600 A 14,400
01 Al -2 - FXNENLII XL S0l Rt 115,200 129,600 A 14,400
OusZE=2dH & IHESSTAES H2E 01X
= 2,880,000,000& *4/100 115,200
601 XL S =4 360,000 360,000 0
01 Al-Z - FXNENLI)IsHL=d=a 360,000 360,000 0
ORSEFZHEH L HTSSALL 20 A3
= 3,600,000,000& *10/100 360,000
HE2IAZH (nSdHA D) 80,333 78,024 2,309
el 2l 80,333 0 80,333
lEAIH (RS A ) 80,333 0 80,333
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